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1. Expand using Pascal's triangle : 

Watch Video Solution

(x + y)
4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KnEs07ICSlGp


2. Expand 

Watch Video Solution

(x2 + )
3

1

x

3. Expand  by the binomial theorem

and find its value to two decimal places.

Watch Video Solution

(1.04)
5

4. Expand the following expression using

binomial theorem and write down their

https://dl.doubtnut.com/l/_HygshHVFwnm1
https://dl.doubtnut.com/l/_MacnIZWOf4K3
https://dl.doubtnut.com/l/_qcSIM1tM3MQu


general term. 

Watch Video Solution

(x + )
42

x

5. Expand the following expression using

binomial theorem and write down their

general term. 

Watch Video Solution

(x − 2)5

https://dl.doubtnut.com/l/_qcSIM1tM3MQu
https://dl.doubtnut.com/l/_gkjOrAKZNLV2


6. In the expansion of , find the

middle term i.e.  term.

Watch Video Solution

(x + 3y)6

( + 1)
th6

2
4th

7. In the expansion of , find the

middle terms  term i.e.  term

and  term i.e.  term.

Watch Video Solution

(2x + 3y)5

( )
th5 + 1

2
3th

( + 1)
th5 + 1

2
4th

https://dl.doubtnut.com/l/_8FXMaMHsdWZs
https://dl.doubtnut.com/l/_ey2gOcOyWsHl
https://dl.doubtnut.com/l/_wVtBZiDZQlcF


8. Find the coefficient of  in the expansion

of 

Watch Video Solution

x− 8

(x − )
101

2x2

9. Find a if 17th and 18th terms in the

expansion of
 
are equal.

Watch Video Solution

(2 + a)50

10. Show that the middle term in the

expansion of

https://dl.doubtnut.com/l/_wVtBZiDZQlcF
https://dl.doubtnut.com/l/_A1KPDuE2c5r3
https://dl.doubtnut.com/l/_7YWxf9bVnZln



 is

a positive integer.

Watch Video Solution

(1 + x)2n
is 2nxn, wheren

(1. 3. 5(2n − 1))

n !

11. Find the term independent of x in

. Also write its  term.

Watch Video Solution

(2x2 − )
12

1

x
3rd

12. Evaluate : 

Watch Video Solution

(1 + √7)
5

+ (1 − √7)
5

https://dl.doubtnut.com/l/_7YWxf9bVnZln
https://dl.doubtnut.com/l/_vHZDqOhqchVP
https://dl.doubtnut.com/l/_CaX8wEdLQwNv


13. Find the middle term in the expansion of :

Watch Video Solution

 (x − )
101

x

14. Find the coefficient of  in the expansion

of 

Watch Video Solution

a15

(a3 + )
10

2

a2

https://dl.doubtnut.com/l/_CaX8wEdLQwNv
https://dl.doubtnut.com/l/_jvrrp98UBolg
https://dl.doubtnut.com/l/_23CAfZDa6DMS
https://dl.doubtnut.com/l/_sVfO1jIU4mqd


15. If

Prove that,

.

Watch Video Solution

(1 + x)n = C0 + C1x + C2x
2 +_ __ + Cnx

n,

C1 + 2C2 + 3C3 +_ __ + nCn = n.2n− 1

16. Find the co-efficient of  in .

Watch Video Solution

x17 (x − x2)
10

https://dl.doubtnut.com/l/_sVfO1jIU4mqd
https://dl.doubtnut.com/l/_s3yKluEvD2mP


17. Find the co-efficient of  in the expansion

of .

Watch Video Solution

1

x

( − )
8

3

x2

x3

3

18. Expand of the expression : 

Watch Video Solution

(2x − 3)6

19. Expand of the expression : 

Watch Video Solution

( + )
5

x

3

1

x

https://dl.doubtnut.com/l/_MbtTwR0pJrZT
https://dl.doubtnut.com/l/_EqiAMYouFPKq
https://dl.doubtnut.com/l/_jsYfORpDRShh


20. Expand of the expression : 

Watch Video Solution

(x + )
61

x

21. Find . Hence, evaluate 

.

Watch Video Solution

(a + b)4 − (a − b)4

(√3 + √2)
4

− (√3 − √2)
4

https://dl.doubtnut.com/l/_jsYfORpDRShh
https://dl.doubtnut.com/l/_8ns9eMA6NmgN
https://dl.doubtnut.com/l/_NSTdbSEhtmPy


22. Find 
 if the 7th and 18th terms of the

expansion 
are equal.

Watch Video Solution

a

(2 + a)50

23. Find the coefficient of 
 in the

expansion of 

Watch Video Solution

x6y3

(x + 2y)9.

https://dl.doubtnut.com/l/_xpWFGcmjr9rl
https://dl.doubtnut.com/l/_ncDrB89ZQ8Hv


24. Find the term in the expansion of 

Watch Video Solution

13th

(9x − )

18

, x ≠ 0
1

3√x

25. Find middle term of 

Watch Video Solution

(x + )
172

x2

https://dl.doubtnut.com/l/_fw5J0MReSKqp
https://dl.doubtnut.com/l/_mHqwye4STNmO


26. Find middle term of 

Watch Video Solution

(x + )
16

2

x2

27. Find the middle term in the expansion of

Watch Video Solution

(3x − )
9

x3

6

https://dl.doubtnut.com/l/_PYZGIdEwXNVa
https://dl.doubtnut.com/l/_SrKCMt8PCRAY


28. Find middle term of 

Watch Video Solution

(2x + )
18

1

x2

29. Show that there are no terms independent

of in the expansion of 

Watch Video Solution

(x + )
191

x

https://dl.doubtnut.com/l/_3aEf4cyxPvYM
https://dl.doubtnut.com/l/_XzCP1LJxBkhU


30. Find the co-efficient of  in the expansion

of .

Watch Video Solution

x4

(2x2 + )
20

1

x

31. Find the co-efficient of  in .

Watch Video Solution

y4 (y + )
10

c3

y2

32. Write down the  term in the expansion

of .

6th

(x2 − 2x)
10

https://dl.doubtnut.com/l/_ttN6ZmsJomFv
https://dl.doubtnut.com/l/_jqeyPUggHizn
https://dl.doubtnut.com/l/_UgklRTqgFTY2


Watch Video Solution

33. Find the term of x in the following binomial

expansions 

Watch Video Solution

(x ≠ 0) :(2x2 − )
12

1

x

34. Find the term independent of x in the 

expansion of 

Watch Video Solution

( x2 − )
93

2

1

3x

https://dl.doubtnut.com/l/_UgklRTqgFTY2
https://dl.doubtnut.com/l/_FPDFk6M4OYSd
https://dl.doubtnut.com/l/_rNP2cqAM1YLa


35. Find the term independent of 
 in the

expansion off the following expression:

Watch Video Solution

x

 (2x + )
9

1

3x2

36. If

, prove that

Watch Video Solution

(1 + x)
n

= C0 + C1x + C2x
2 +_ __ + Cnx

n

C1 + 2C2 + 3C3 +_ __ +n Cn = n2n− 1

https://dl.doubtnut.com/l/_O6hmWiLlnhb6
https://dl.doubtnut.com/l/_BeBOXVod8jws


https://dl.doubtnut.com/l/_BeBOXVod8jws

